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Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All

questions are compulsory.

For a linear demand curve, which of the following is true ?
(1) Elasticity of demand is unity at all points.

(2) Elasticity of demand is constant at all points.

(3)  Elasticity increases as one slides down the demand curve.
(4) Elasticity declines as one slides down the demand curve.

A discriminating monopolist will charge a lower price in the market in which the price
elasticity of :

(1) demand is greater (2) supply is smaller
(3) demand is smaller (4) supply is greater

What is a public limited company ?
(1) owned by the government (2) owned by share-holders
(3) owned by financial institutions (4) owned by MNCs

Between the two situations for a firm profit maximization and sales revenue maximization,
the equilibrium for a profit maximiser as compared to sales revenue maximiser, takes place
at :

(1) larger output and lower price (2) lower output and higher price

(3) lower output and lower price (4) larger output and larger price

Neo-classical production function has which of the following characteristics ?
(a) Positive and diminishing marginal productivities of the factors

(b) Constant returns to scale

(c) Satisfies Inada conditions

Choose the correct answer from the code below :

(1) (a) and (b) (2)  (a) and (c) (3) (b)and (q) 4)  (a), (b) and ()

)
o-ans [ NN
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e : 39 T-T9 § UugT (75) dg-fashedid U9 § 1 T Y9 % a (2) of €1 Wt g Sifrard ¥

1.

o-ans [

T Y& 91 ag & fou freifea # @ =0 9@t €2
(1) = % @ et fogell W e 2t T

(2) T H A gt fgeti W fer wd ¥

(3) I =% R = FT R M R A= gl 2 |

(4) I WA HY SR AW R A e 7

TF TR THIUHRAE] 39 99K § %7 g dRIfTq &an f99d e a
(1) i 1 s9me1 € (2) omyfd w1 FH T

(3) HMH FTR (4) STYfd =t SoTET §

T Yfectesr fAfaee St =1 2t € 2
(1) ¥R & TrHe e (2) IR YR o TATHE o]

(3) fa<ita SeamHil & @i ot (4) TR & @i ot

fordt Team & fau 9 feafqal, oy AeaHiewr IR fawa g AeaHie, & Heg foasma o
HeqHIRReR i 3TULT A1Y HedHIhRe & fau g ® f= § 9 =1 ufed 2 22

(1) oI IR IR TR g 2) R IR 3R =R I

3) w3 R R 1o (4) TSN IR AR IAR A

T9-FATGR T ScaTe Ferd &1 01 # § .1 g €2

(a) TEAl HI ¥R SR Tedl g8 HiHa SRR

(b) TN & feer wfawa

(c) TSI Il I WY H §

fqu e feifeRd el o @ W& ST 1 =TT B

(1) (a) ¥R (b) 2 (a) ¥R (o) (3) () ¥R (o) (4) (a), (b) 3R (o)

w
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6.  On the given diagram, which of the following segment correctly depicts the supply curve of
a producer ?
Y
MC
B AC
AVC
Costs D
C
A
X
O Output
(1) DE (2) CB (3) AB (4) DB
7.  Product differentiation is relevant to which set of the following market forms ?
(I)  Monopoly, Monopolistic Competition, Oligopoly.
(2) Perfect Competition, Monopoly, Oligopoly.
(3) Monopolistic Competition, Oligopoly and Oligopsony.
(4) Perfect Competition, Monopoly and Bilateral monopoly
8.  In imperfect factor and product markets, labour exploitation is represented by :
(@) When ARP is > Average wage.
(b) When ARP is > Marginal wage
(c)  When ARP is < MRP
(d) When ARP is < Marginal wage
Select the correct answer from the codes given below :
(1) (a), (d) @) () © (3) () ®) 4 (@, ©
9.  Who among the following economists emphasized the role of non-economic factors in
explaining growth ?
(1) R.M. Solow (2) Roy Harrod (3) N. Kaldor (4) E. Domar
10. Which one of the following is not an Hirofumi Ujawa condition for a well behaved production
function ?
(1) Continuously differentiable
(2) When x=0, flx)=
(3) The second derivative of the function is negative
(4) The function is concave
11. Exponents of the Cobb-Douglas production represent :
(1) Output elasticity of factors (2) Share of factor income in total income
(3) Both (1) and (2) of the above (4) Neither (1) nor (2) of the above
o-ons [N ; Fapert
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6. fou U e # 9 § @ FF e T SRS ok (A ook o1 Tel g1 | YfHfq il © ?

Y
MC
v AC
AVC
AT D
C
A
X
O IeqeT
(1) DE 2) CB (3) AB (4) DB

7. freifea # @ fr a9k ey & Rl W 9% fade any e g ?
(1) THIYUSR, THIFHRT T, STeaiaR
(2) qUl ST, THITHHR, STeafsR
(3) THIHRRI IR, FATHIURR, STEThdlURR
(4) ol gfqeafi, Tewfaer &R fgueia TR

8.  STYUl WIEH IR IS ISR H, 99 I 1 fe1 H @ wfaffaes e €2

(a) 9 STHA ATTH IARHAT > FHA TG

(b) & SiEq AT IARHRA > HHId TG

(c) < 3ATHd AT IcuChHT < TH.STH.

(d) <9 3T Hd ATTH STl < HiHid Heigd

frtiferet fow 1o %2 & @ W SR I -

1) (), (d) 2) (@ (© 3) (), (b) 4)  (d), (9
9. = ° ¥ form srefumestt 7 Hafg &1 =men § i-enfifs weel 1 offien W o fean ?

(1) R It (2) TS (3) TA. HTR 4) T ¥

10. TH GHATRING 3G el & e f & § &F T felgHt Isimen steen 18 < ?
(1) Hdad TahaTy (2) S&x=0, f(x)=0
(3) e I f5dla STaTarsl HOME® § (4) o 3TEqd ©

11. 9 - STAH ST F S 904 &
(1) ThI T 3G A (2) FA A H HH A AT g
(3) W H ¥ (1) AR (2) IAT (4) SWEHFITC (1) IRAH (2)

o-ons [ AL HAI ;




12. Concept of scale economies applies in :
(1) Long - run with constant technical coefficients.
(2) Long - run with variable technology.
(3)  Short - run with constant technology.
(4) Short - run with variable technical coefficient.
13. Consider an economy with a Cobb-Douglas type of production function with two inputs -
capital and labour. The share of capital and labour in total output are, respectively
n and % The rates of growth of capital and labour are, respectively 8% and 4% per annum.
Neutral technical progress takes place at the rate of 3% per annum. What will be the rate of
growth of output per annum in this economy ?
(1) 5% 2 7% B) 9% 4) 8%
14. Which of the following conditions is most likely to benefit a debtor under new classical economic
framework ?
(1) Anticipated deflation (2) Anticipated inflation
(3) Unanticipated deflation (4) Unanticipated inflation
15. Which theory assumes that increase in stock of money is directly spent on goods ?
(1) Quantity theory of money (2) IS -LM theory
(3) Keynes (4) None of the above
16. In Harrod’s model of economic growth, if warranted rate is below the natural rate of growth
then it is possible to maintain steady state growth at warranted rate with :
(1) Continually increasing unemployment
(2) A constant rate of unemployment
(3)  Continually decreasing unemployment
(4) None of the above
17. Wage is determined where :
(a) Demand for labour = supply of labour
(b) MRP of labour = marginal wage
(¢) MRP of labour = ARP
(d) MRP of labour = Average wage
Select the correct combination from above :
(1) @and(® @ (©@and(d) () @and()  (4) (a)and (d)
o-ons [N ; papeca
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12. oM =t fageafameti &1 srauren frfatea 9 fog § ar gt €2
(1) <rewa | fEer qeRteRT o
2) <rewa H e et
(3) e | feer drefirnt
(4) SICURIA H YRedeiiel dehleh! T[T
13. I IRl - i 3R 91 & W1 Hid - ST SeIed Herd o YR aret srefegeeel W faR w1 3
Scared | S iR 99 1 few wawn: %eﬂ? %%‘l TSt 3T’ g9 it gfg H T FAM: 8% 3R 4%
gfaad 1 3% Ufaad i X | e Tt W gt § 1 T} steferawen # gfqed 3careq =t gfg
ERIEUI
(1) 5% 2 7% (3) 9% 4) 8%
14. o Fenfgsia nfdfe ufigea o frefafaa § @ st o forad ey 89 1 deremn gaffys § 2
(1) v s (2) e e
(3) TG STAERIT (4) YA IR
15. HA-91 fagra g8 9 ® T o7 & =i § 2 9wt gig 7o §9 9 a5gel W e Bl § 2
(1) &7 =1 = fag (2) SE.TH. - TA.TA. (IS- LM %) fagm=
(3 *W (4) v F @ FE E
16. ¥IS & amffe gfg wea # afc o7ifea X gfg =t Trfde 8 &8 & a1 11 9 9 foreeh @ =ifed
TR gfg H Fa feer T H IA1C @ 699 72
(1) FRE sEd R (2) SUSTRY T fEer <X
(3) R Tt sRiermd (4) SR H | HE T
17.  Higd o1 faeieo faan s & <7
(a) 9¥ &I HT = FH K Y
(b) 9| &I A S IACHT = HHd TRAHR
(c) 4 %! WM ST IACHAT = 3T STTH Seaeehdl
(d) 99 *I FHIG WTH Seehdl = ir|d st
SHIE H | HE FASH B G
(1) (a) R (b) () ()R (d) () (a) ¥ () (4) (2 (D)
o-ons ||| FHINANI : —




18. According to Harrod, neutral technical progress is characterised as :
(1) Capital augmenting
(2) Labour augmenting
(3) Both labour and capital augmenting
(4) Productivity increasing
19. The capacity creating aspect of investment in growth theory was explained by :
(1) R.F. Harrod (2) E.D. Domar (3) R.M. Solow (4) P.A. Samuelson
20. The rate at which banks lend to RBI is known as :
(1) Bank Rate (2) Repo Rate
(3) Reverse Repo rate (4) Interest Rate
21. Assertion (A) : AK model is an endogenous model.
Reason (R) : This is due to absence of diminishing returns to scale with respect to capital.
Then which of the following options is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) (A)is false but (R) is true.
22. Assertion (A) : According to Marx in a capitalist society organic composition of capital
increases with time.
Reason (R) : Technological progress is continuously more capital intensive.
Select the answer from the code given below :
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) (A) is false but (R) is true.
23. A less elastic IS curve means that :
(1) Monetary policy is more effective (2) Monetary policy is less effective
Fiscal policy is less effective (4) Both (1) and (3) are true
s |H||H||H HTIR ; Papeca
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18. TS & STIER Y qohTs! WA I Fel W € :
(1) YSiT Ha€ amt
(2) 99 Ha€T et
(3) <M g™ IR Yt HaeT et
(4) ASHAT T HelH

19. Hafg fagma o a9 & aar g Teq] *1 fHasr gR1 faear & samn w0 § 2
(1) ¥RTE W (2) B3 TR (3) ORUA Hell  (4) WU dAgreEd

20. 58 W S 9., # SUR <9 § € wead ¢ :
1) d& (2) W
(3) faem W xR (4) =N

21. 3MFUFKAT (A) : TH.(AK) Afed AT Aled & |
WIOT(R) : U Yo & M % gfasar 1 fRdt <0 =1 erqufeafa & wror € 2 |
fr=fafaa & @ =9 @ fasey @& €2
(1) (A) 3R (R) A w2 ¥ 31X (R), (A) 1 T TITHT |

2)  (A) 3R (R) I 9&t € 3R (R), (A) T &l TI=HT Tl |

() (A) ¥ § T (R) o B |

(4) (A)7Td 8 WY (R) 9Lt 2|

22, ATURYIT (A) : A & TR SHaTR! THN H Gsil 1 Sifaeh H= T §0 6 T 9&dt 8 |
T (R) : renfirerta goifa fReae ok stfues Ift Tem 2t @l B |
= foT T Fl | WH W H =TI A
< :
(1) (A) 3R (R) AT & € T (R), (A) T HEl TT=HIT |
(2) (A) 3R (R) ST HE E T (R), (A) F1 HE TR T T
(3) (A) el g W (R) 7o & |
4) (A) T € W (R) TR B

23. HH AEER AE.TH. (IS) % H1 N & fF -
(1) Hifge Hifq siferes gumt ® (2) Hifgsk Hifa &9 gt §
(3) TSI Hifa 9 g @ 4) (1) 3R 3) < T

o-ons [ AL HAI :



24. Consider the following :
(a) Nominal GDP (b)  Price level (c)  The rate of interest
In monetarism, money supply determines which of the above ? Answer from the code given
below :
Codes :
(1) All the above (2) Only (c) (3) (a) and (b) (4) (b)and (c)
25. In Keynesian framework, at full employment, which of the following is/are true ?
(a) Supply curve in the short period is inelastic.
(b)  The supply is influenced by the increase in the quantity of money.
Select the answer from the code given below :
Codes :
(1) Both (a) and (b) are true
(2) Neither (a) nor (b) are true
(3) Only (a) is true
(4) Only (b) is true
26. Who among the following economists considered the portfolio approach to demand for
money ?
(a) J.M. Keynes (b) M. Friedman (c) James Tobin
Select the correct answer from the code given below :
Codes :
(1)  All the above (2) Only (b) and (c)
(3) Only (b) (4) Only (a)
27. When LM curve is vertical, which one of the following is correct ? An increase in money
supply will lead to :
(1) Fall in interest rate (2) Fall in the level of income
(3) Rise in the rate of interest (4) No change in the level of income
28.  Who among the following believe the velocity of money to be constant ?
(1) Classicals (2) Keynesians
(3) Monetarists (4) Both (1) and (3) above
o-ans [ HIRCANAN 10 Papeca
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24, frefafad @ foamr &1 :

(a) HIfgeh Tehel B 3cUTS (b) HIHd & (c) =S &l T
HgTETE g1 1 STfd 3Ue § | fohwen e et €7 9 feu U el 9 3w 9

@‘d‘:
(1) SR gt (2) e (c) (3) (a) &R (b) (4)  (b) &R (o)

25. FAfgEA B § qui IoR T feafq § Frefafes § @ #9-w/9 @@ 2/87?
(a) MY =k STty H Feien T g |
(b) g1 k! AN A gfg @ mgfd genfaa Bt ¥
e :
1) (a) 3R (b) I W& ¥ |
T (a) FRTF (b) T T
aﬁlﬁ(a)?l@‘%l
%ad (b) e T |

2
3

(
(
(
(4

)
)
)
)

26. TrAfafea § 9 feg sttt 7 g8 & fau 7 & gewifaal giesion | faar e ?

(a) S.TH. HH (b) TA. frewA (c) <= 2fad

2t fou Tu el @ W@ WA ¢

< :

(1) ST wHf (2) HAA (b) AR () (3) HoA (b) (4) ¥ (a)

27. &€ TA.TH. (LM) T 1R gl ¢, @ ¢t fearfa o freafafaa 9 & sR-w @@ 82 qg1 omafd &
FrgH T T :
(1) = H Al (2) & % TR H firree
() =N RH g (4) T % R H Sig R T/l

28. fr=fafea § @ # o8 A § % qg1 %1 a1 feer 72
(1) A (2) AT
(3) TR (YgmEmE) (4) (1) R (3) Al

o-ons [ RN "



29. Which one of the following is not correctly matched ?
(1) Long-run consumption function : Permanent Income Hypothesis
(2) Demand for money balances to be held : Fisher’s equation
(3) Real balance effect : Tobin’s portfolio theory
(4) Labour theory of value : Ricardo’s theory of distribution
30. For Keynesian demand for money, which of the following is correct ? People wish to hold
money in the form of :
(1) Cash (2) Bonds
(3) Both Cash and Bonds (4) Neither Cash nor Bonds
31. Crowding out will emerge in the economy, if :
(1) government spending is on the rise
(2)  deficit financing is in control
(3) both (1) and (2) are relevant
(4) neither (1) nor (2) are relevant
32.  Which one of the following is/are not true for a simple Y =AK model ?
(a) Constant exogenous savings rate
(b) Non-operation of diminishing returns to scale
(c) Constant endogenous savings rate.
Choose the answer from the code given below :
Codes :
(1) (a) and (b) are true (2) (b) and (c) are true
(3)  Only (c) is true (4) Only (b) is true
33. Consider the following statements with regard to “Make in India” programme :
(a) It concentrates on 25 industries/sectors.
(b) 100 per cent FDI has been allowed in railway infrastructure projects.
Of the above, which is/are correct ? Answer from the codes given below :
Codes :
(1) Both (a) and (b) are correct (2) Neither (a) nor (b) are correct
(3) Only (a) is true (4) Only (b) is true
oans [ MR AN » Fapeca
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29. Trefeted § @ sH-a1 w8 gafed @& &2

(1) <refafy 3T wed . Tl ST e

(2) @ ST Bq HeT hIY i | S il B

(3) dTfae I GHE . 2fed w1 UewitaaEl fagT
(4) I %1 94 fagr= . Tt =1 faan fag

30. HgI & fau wafged o &g fFfafed § § A-T @& 82 99 & | 69 €9 § W@ =96 ©
(1) T (2) =
(3) T IR died Tl (4) 7 TR R T g aied

31. AefoHeEen § wisfen amse i frafa sca= & smu, afe .
(1) W&HH = 9&d ®

(2) = 1 famdrom feEm § 9

(3) (1) 3R (2) S ¥4 €

4) DM (1) IR (2

32. WM Y =AK Hisd % fou frefafed 8§ @ SH-91/9 98 T8 /8 2
(a) TeR IRIMYRG o= T
(b) M % fRd wfawa 1 9fera 7 S
(c) Ter srafiulfia s=a

Eclg_d':
(1) () &R (b) ST T €1 2)  (b) 3R (o) I W ¥
(3) o (o) WEI @4)  Faa (b) T

33. ‘W& = shedr’ FEwd & Hay H efated weel ) foEr #67
(a) TEH 25 /& W ATk A fea e j
(b) & ATHTHA GFESHI ¥ 100% gcaet foxen fraer it ermfa & € 7
Swis H | iF 9/8 W /2?2 A fau Ty el @ s T

?gl_)az(a)aﬁw(b)aﬁaé% 2) T (a) ARAE (b) W& R
(3) A (a) TE (4) I (b) T
oous [N 13




34. Population replacement level of total fertility rate is :
(1 21 (2) 1.0 3) 25 4) 4.0

35. Consider the following regarding shadow banking :
(a) NBEFC facilitating credit spread across the global financial system.
(b) These institutions are subject to supervisory control of central banks.

Of the above, which statement/s is/are true ? Select the answer from the codes given
below :

Codes :

(1) Both (a) and (b) are correct
(2) Neither (a) nor (b) are correct
(3) Only (a) is correct

(4) Only (b) is true

36. Consider the following statements :

(a) India is one of the first in Asia to recognise the effectiveness of the Export Processing
Zone.

(b)  Asia’s First Export Processing Zone was set - up in Kandla, India in 1965.
Which of the statement/s given above is/are correct ?

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) Neither (a) nor (b)

37. Value of the Marginal Product (VMP) is :
(1) MPPxMR (2) MPPxAR (3) APPXxMR (4) APPxAR

38.  Which of the following is not a part of Bharat Nirman ?
(1) Rural Housing (2) Agro-based Industries

(3) Rural Electrification (4) Rural Telephony

39. The relevant age group for computation of child sex-ratio :
(1) 0-1years (2) 0-4years (3) 0-6years (4) 0-7years

40. Which committee recommended abolition of tax rebates under Section 88 of the Income Tax

Act ?
(1) Chellaiah Committee (2) Kelkar Committee
Shome Committee (4) None of the above
s ||\||H||||HH!|HIHHH\IH\IHIHIIHI\HH 1 Faper
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34.

35.

36.

37.

38.

39.

40.

STEEAT FTaReTqe &t el FoTdl X @
1 2.1 @) 1.0 3) 25 4) 4.0

giqeTn dfdT & dau § fefafeg ) fa=ar &1

(a) TAUFRH. Sfyes faia yonelt § T2 Wl w1 0T HT GiaHT a1 w1 ¥ |
(b) 3 TEAH F=1g Aol % qFidel fEE0 % sremed €1

ST | ¥ HH-91/Y FoT W& 8/ 2 A= feu U e § 9 w9 WA ¢

%<

(1) (a) 3R (b) S T 1 (2) A (a) IARAE (b) TE T
(3) A (a) TE T (4) Had (b) T )
TefafEd wu W 99R &1 :

(a) e H IR TH veen g e Fraia gHERor S i geresiierar 1 5 eH Hi Sl
(b) T w1 YEen Tl THERI SIF Riedl, YR | 1965 H TIfUd gaT ot |
IR feu 7T FHuAl H F HH-91/9 wYT WE 2/ ?

(1) 9 (a) (2) e (b)
(3) (a) 3R (b) ST (4) T (a) ARTE (b)
i 3T H e (VMP) 7 :

(1) THHHE XxTHR (2) THRI XTIR 3) THIA xTHAR 4) THI xTAR

freafafaa & @S- wra faior 61 9w =& €2
(1) T STE (2) Ff senla ST
(3)  TTHIT fergeteRor (4)  TTEHO SATHRA

e fAT- ST T 7O % fA S oY SR R
(1) 0-173d 2) 0-473d (B) 0-67d 4) 0-73d

forg Ffafa 3 X SIfuf=m ®T 9 88 & ST=Id HI-TRd o S i THHRIE &l off ?
(1) <Ieren gibfd (2) AR T
(3) M Hffd (4) W H 9 DS Tl

)
o-ons [ RN i



41.

42.

43.

44.

45.

46.

As per the UN Report on the convention between Poverty and Environment, which one of
the following is incorrect :

(1) Natural calamities always hit the poor more severely.
(2) Poverty escalation leads to environmental degradation.
(3) Environmental degradation adversely affects livelihood.
(4) Environmental degradation reduces poverty.

Which of the following is not related to ‘empowerment of women” ?

(1) Gender Development Index (2) Gender Empowerment Measure

(3) Gender Budgeting (4) Gender Discrimination

The Phenomenon of “demographic dividend” of a country is related to :
(1) A sharp decline in the total population

(2) A decline in the Infant Mortality Rate

(3) An increase in the sex ratio

(4) An increase in the population in the working age group

The agricultural census is done at which one of the following intervals ?

(1) Every year (2) Once in three years

(3) Once in five years (4) Once in ten years

The 2015, Nobel Prize in Economics has been given to Angus Deaton for his work on :
(1) Consumption, Poverty and Welfare

(2) Population, Poverty and Development
(3) Consumption, Saving and Welfare
(4)

4) Consumption, Human Development and Education

A tax is said to be buoyant if tax revenue is proportionally :

(I) More responsive to changes in output

(2) Less responsive to changes in output

(3)  Equally responsive to changes in tax base
(4) Less responsive to changes in tax base

o-ans [N 1
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41. TIH TE & TE WS THAORTH= W FHoAeH U % uR freafafad § #=n us e © 7
(1) WTHfds TITE goen Ta a7t i Ay genfaa ¥t €|

(2) T ¥ dig gfg ¥ TR0 &Ro7 g ¥
(3) TAfER &R St fafe w1 foada gefaa & 2|
(4) TATEROT &0 TS T HH HIAT B |

42. TrfafEa # 9 HH-91  wfec g’ 9 Hefd T8 € ?
(1) S fow™ @i (2) i HeIfRIRT 34T
(3) S awfen (4) S He-9E

43. fodl T2 F ARSI AHE H A IR Geiferq B2
(1) T SAge d 71 fREe
2) Ty gy H finee
(3) fem ergma 7 afs
(4)

ST o W98 § S9e gig

44, Sy gaet sE frefafed § @ R ofdte R #T S § 2
(1) 9fq = (2) o aE | T IR
(3) di= Al H T AR (4) <99 F TF 9R

45. 31 § Faa QTERR, 2015, T=E S o (efafed ¥ 9 foeq & § & & fog fean e ?
(1) S94mT, e 3R e (2) <HEE, et dR faws
(3) YNNI, T AR FHEA (4) U4, A fom SR faen

46. T F] SeAAH el ST § ATE Y TSI STIIM: &
(1) cared | ufked=i & gfa stfus gagTeia
(2) 3cRA H aftedH % ufd & Hagaeia
(3) X YR § ufadHl & gfd uH &9 & HagAeid
T YR | IREdA] o 9 HH FogTeia

p.aus HIH\IHIIHI\H\II\|||M||\|H|\IIIIIHHIH||\||\|\|\||||\ 1




47. Report by Task Force on the implementation of Fiscal Responsibility and Budget Management
Act, headed by Kelkar suggests some points :
(a) Primary deficit to be abolished by 2008-09.
(b)  Fiscal deficit should be brought down to 3% of GDP.
Which of the above statement/s is/are correct ? Select from the codes given below :
Codes :
(1)  Only (a) (2)  Only (b)
(3) Both (a) and (b) (4) Neither (a) nor (b)
48. Who was the Chairman of the high powered committee for measurement of poverty in
2013 ?
(1) Suresh Tendulkar (2) C. Rangarajan
(3) D.T. Lakadawala (4) YK Alagh
49. Segmented labour markets imply :
(1) Labour discrimination.
(2) Labour paid wage less than MRP.
(3) MP theory of wage fails to determine market outcomes.
(4) Equality of wages of different types of labour.
Which of the above is incorrect ?
50. In India those farmers are called ‘Marginal Farmers” who hold land upto :
(1) 1 hectare (2) 2 hectares (3) 3 hectares (4) 4 hectares
51. Assertion (A) : Indian development programmes are oriented towards growth with social
justice.
Reason (R) : Indian economy is afflicted with poverty and income inequalities.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) (A) is false but (R) is true.
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47.

48.

49.

50.

51.

fordtar STaace! 3R aeie Jaed i % HEfadd T hass i e ae w1 96 gR $9
e feu U
(a) TUfHes =TET 2008-09 T FHIE fohdm ST |

(b) fo<ita =mer S d. & 3% d% ®H foRan ST =fEU
STgF HUA H § HA-|1/9 T §/8 2 A fou T e § = w

e :
(1) = (a) (2) A (b)
(3) (a) 3R (b) IHT (4) T (a) ARTE (b)

Tt A9 % faw 2013 § feq Ssenfuer 9fafa & srege) o9 92

(1) T FgaR (2 . s
(3) €3 dERSET (4) dEH. A
fawfsra sm o 1 o1ef ©

(1) &\ 93-9a|

(2) 99 TA.SRH. ¥ 7 TSgH 1 YIdH |

(3) 9N frepd FYia w0 o A5G & .. f9gia &1 fawa g |
(4) fafs= g6 o g %1 7SIgd § THEHA |

U § | -9 T § 2

IR H 37 ol 1 wiwid foram ' et S © f5en 98 yfF 2

1) 13FRTH ) 23RFATH  (3) 3TRIAVIA®  (4) 4TRA T*

AfieRe (A) : IR fashm FriHT e =g & @1y fae sqa )
HIUT (R) : TR steferaee s X T TEHHAre ¥ I ¥
%<
(1) (A) 3R (R) T ¥ & 3R (R), (A) FT & T=IH T
2)  (A) 3R (R) S &t € TR (R), (A) FT &l TT=IHT0T L B |
(3) (A) TE T IR (R) TTerd B

(A) 7T € T (R) HE

p.aus HIH\IHIIHI\H\II\|||M||\|H|\IIIIIHHIH||\||\|\|\||||\ 1



52. If there is a balance of payments deficit then in a floating exchange rate system :
(1) the external value of the currency would tend to fall.
(2) the external value of the currency would tend to rise.
(3)  the injections from trade are greater than the withdrawals.
(4) aggregate demand is increasing.
53. Devaluation, will improve the balance of payment deficit, if sum of elasticity of exports and
imports of the devaluing country is :
(1) greater than unity (2) less than one
(3) equal to zero (4) negative
54. Examples of economic integration are :
(a) Free Trade Area (b) Customs Union
(c) Common Market (d) Cartel
Select the correct answer from the given codes.
(1) (a) and (b) (2)  (b) and (c) (3) (@) (b)and (d) (4) (a) (b)and ()
55. Consider the following statements :
(a) India’s Trade Policy Review (ITPR) is carried out every four years.
(b)  WTO has a mechanism for regular review of the trade policies of member countries.
Which of the statement/s given above is/are correct ?
(1) Only (a) (2) Only (b)
(3) Both (a) and (b) (4) Neither (a) nor (b)
56. Which among the following countries was the largest trading partner of India in 2013-14 ?
(1) UAE (2) China (3) USA (4) Japan
57. New Trade Policy 2015-20 has introduced a new scheme which is called :
(I) Merchandise Export from India Scheme
(2) Export from India Scheme
(3) Merchandise Trade from India Scheme
(4) Trade from India Scheme
o-ans [ HIRCANAN 2 —
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52.

53.

54.

55.

56.

57.

Ffg T W | =rel & @ afedra fafree g yore! 7 -
(1) T ! ITGA HIHd HH & ST |

(2) TR ! ST A T ST |

(3) TR F S8 SR ¥ Afer € |

(4) % =T 9 W T

AT | YA Fgerd =1 H GIR RN, A STaqedd &3 et 99 &1 9 & oiR s d@e

(1) Thq aaferh 2) THE

(3) I % TEHRH (4) THRRHE

aTIfefer THTRTTT F ISR € :

(a) HH SATIR & (b) HHAREH I

(c) ETEAT SIS (d) 3EH HH (Cartel)
= e T 2 | WE S F T L

(1) (a) &R (b) (2) (b) &R (o) 3) (), (b)FR(E) @) (@) (b) AR()

fr=fafead wuml T foer &8 :

(a) WA S AR ifq Foien (.0.IR.) JF 9IR a1 § &1 A 2 |

(b) fava MR FTed & I U< T w1 AR Al w1 frafa g & faw o 697 2
Sfa B ¥ SH-91/9 FeF & 8/ ?

(1) 9 (a) (2) A (b)

(3) (a) 3 (b) S (4) (a) ¥ (b) F FIE T

frfafaa § @ SF-91 <9 99 2013-14 F IRE IR H1 G 981 TR qHISR o1 2
(1) T T FHR (2) ==
(3) HIF T TR (4) SHA

T =R ifq 2015-20 B T 7 ThiA IE H1 T §, {59 w1 @1 1
(1) wo<Bs TR % sfedl @M (2) TIHUR % sfedr @i
(3) TSRS <€ WM Ifedl ®hiA (4) IS WM sfed whiA

o-ons [ RN 2



58. What does ‘Price Scissors’ refer to ?
(1) Marshall’s example of forces of supply and demand.
(2) Exports of two strategic raw materials from a country.
(3) A sharp fall in price of a major export item accompanied by a sharp rise in price of a
major import.
(4) Export basket of competitive local manufactures.
59. Hedging in the foreign exchange market refers to :
(I) An act of devaluation.
(2) Not covering a risk of foreign exchange in future.
(3) Covering a risk of foreign exchange in future.
(4) None of the above.
60. For Real Effective Exchange Rate consider the following statements and select the correct
answer from the codes given below :
(a) It refers to average of value of country’s, currency in relation to an index of basket of
values major countries’ currencies.
(b) It refers to nominal ratio of a country’s currency value to average value of a basket of
currency.
Codes :
(1) Only (a) is true (2) Only (b) is true
(3) Both (a) and (b) are true (4) Neither (a) nor (b) are true
61. Consider the following statements :
(a) In the context of the classical model, loan finance may be a means of transferring the
burden to the future generation.
(b) Foreign borrowing permits financing public programmes without placing burden on
the present generation.
(c) Foreign borrowing is not burden some to the future generations even if the funds are
used unproductively.
Which of the statement/s given above is/are correct ?
(1) Only () 2 @and®) () Gand(© @ (a)and (O
oans [ MR AN 8 Fapeca
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58.

59.

60.

61.

o-ans [[[ 11

Fmd St (s Hied) frefafea § frget IR SHd #ar 72

AT GRI /T AR qfd S qrehal 1 ST |

T §8-9¥ § T WHITaH wed ATel 1 1 |

T Y@ ST &1 wAd § A9 gfg & g1 WHIfds Faid 78 1 wimd | a9 frEe
yfaeasicrs T fafiaet &t fafd A (TR aRhe) |

(1
(2
3

)
)
)
4)

foceht fafma awm 9 2 frefafed o feraet oIk 9od il © 72
(1) ST H1 TH FA|

(2) wfos ¥ foceft fafra %t Sife 1 snfha 7w

@) wfg= 7 foceft fafrma =t sifew =1 e e

) STE H ¥ ®E T

4

aredforR g fafa R & fa fefafad sl © faem w ik fefafed fe & § 98 S| T -

(a) I% IHE T 1 HRIGT o SEehe ok Hod YAhich T Gl § fohell <91 1 Hg1 o i 9q qed 1
R Hohd HIT R |

(b) TE RIS I AR o ATEd qod AR fRH <0 1 Gg1 & Hifssh qod & Afha STgamd &l 2IR”
Tohd HIAT ¥

(1) Fad (a) TE T (2) FaA (b) T
3) (a) 3R (b) < W ¥ 4) (a) 3R (b) T T T ¥

Frefafad el - faam % :
(a) FNfasat Aied & Hed ¥ w1 gru fordiam, et difedi W 9R % 3T 1 Tk 91eF T

(b) Tocel =01 adHE HEl W fom1 #E IR T, IS Al & fau foamo s weg &
4

(c) faceft ko wieht difedl o fore ey @1 & afe ffeml w1 9o stqcaes &9 4 off =i 7
foran T

ST HUAl | ¥ HH-H1/W HY HE g/ ?
(1) %9 (a) W § 2) (a) &R (b) T E
(3) (b) &R () T T (4) (a) ¥ (0) WA T

JHIN 2




62. Tax incidence refers to :
(1)  Whether a tax is progressive, proportional or regressive.
(2) How often a tax is collected.
(3) The person or group who ends up paying a tax.
(4) How a tax is collected.
63. Assertion (A) : A progressive income tax is based on equimarginal sacrifice.
Reason (R) : Higher the income, lower will be the marginal utility of money for the tax
Payers.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)  (A) is true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
64. Which one of the following taxes is within the jurisdiction of the State Governments as
enumerated in List - II of the Indian Constitution ?
(1) Taxes other than stamp duties on transactions in stock exchanges and future markets.
(2) Taxes on Railway freight and fares.
(3) Taxes on mineral rights subject to any limitation imposed by the parliament.
(4) Rate of stamp duty in respect of certain financial documents.
65. Y
IC
Good
B
Good A X
In the above diagram, if curve IC represents income - consumption curve, then it means that :
(1) Only (A) is an inferior good.
(2) Only (B) is an inferior good.
(3) Both (A) and (B) are inferior goods.
(4) (A) is a normal good.
oons [N 2 Fapeca
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62.

63.

64.

65.

o-ons [ RN z

FUaTd FeAfafad § 9 feget 3R Hohd w31 82
(1) 1 IS F JITE, Tl a1 FiawmHt €1
2) % FR fHat IR THA foran S 7

(3) A A1 WE SN SAd: HR BT YA HI T
(4) HIE B HY THA fHAT W@ R

USRI (A) :  FITARNA AT I THM FHIG T T ST |

HIT (R) : 31 TSt stferen BT sheeTarstl ot ggT i TiHid STAITTAr Sa-t & w9 g |
e :

1) (A) 3R (R) AT T & 3R (R), (A) F1 T TR0 |

2) (A)®E &, T (R), (A) 1 T TR T B

(3) (A) ¥ B, T (R) T ¢ |

(4) (A)TeW ¥, W (R) L B

frefafed U 4 9 FF-91 T T TWER o SGARR § ST § 61 vRdg |@fas & g - 1 H
gefterg foram man €2

(1) i TFEsl SR JEE aER H o1-37 7 @9 921 9 STfafe

(2) YIS AIAYTE SR el W H |

(3) WU gN ARG et T & o7efie Wite syl T |

(4) T o< el & 9 § =9 el &l

Y

IC

T A
I 3@ H, Ife IC Tk T-3uHI ash Fefefa wiam € af sa o1ef § o -

(1) ke (A) Fipe =oeg B

2) Faa (B) Fig= a5 Tl

(3) (A) 3R (B) T Fiepee =g B
(4) (A)9ER & B

6]
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66.

A
D

Y E

E P

~

B
© Q
Quantity

In the above diagram, the consumer surplus is represented by the area of :

(1) APCE (2) A APE (3) A ACE (4) Rectangle OPEQ
67. Simon-Hawkins conditions relate to which of the following ?

(a) Static Leontief model

(b) Dynamic Leontief model

(c) These are necessary and sufficient conditions for the solution of the model.

Choose the correct answer from the codes given below :

Codes :

1) @and® (2 Gand@©  (G) (@) (b)and(© @) (a)and ()
68. Given the production function Q=2'K%' L%, find the output level when 8 units of capital

and 27 units of labour are used.

(1) 36 (2) 54 3) 18 (4) 24
69. A consumer spends I 240 when the price of the commodity is I 15 and ¥ 300 when the price

rises to I 20. The elasticity of demand is :

1 2 2) 1 3 2 4 >

3 @ ®) o @ 5
70. For a regression model

Y =By + B Xy + BoXo+ o+ B X + 1,

the degrees of freedom of test statistics [t|, with ‘n” observations is :

(1) n-k (2) n—-k+1 B) n-k-1 (4) n+k+1
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66.
A D
E
e
© Q
A
SUge TR H IqIET AT 1 ford & gry @it T § 2
(1) A PCE (2) A APE (3) A ACE (4) =q4¥s OPEQ
67. TEHEA - Bifehg i 9d f=fafaa § ¥ frad deifud €2
(a) foamfew @1 Wit dfea |
(b) TaEAfe® 1 TRTCHS Hied |
(c) 3 Hied * g & T eTavas iR 7afa g9 € |
e few T R @ W s g
e :
(1) () ¥ (b) ) (b) 3R () 3 @ OFRE© @) (@I
68. 2T U ST Wo Q=2-K/3- 13, Seqed T 9T, wraf ST T 8 ST IR AfHeh! HT 27
STl 1 SUANT G ¢
1) 36 2) 54 (3) 18 (4) 24
69. W fREt a%g #I FAd T 15 Bl © @ U T 240 T HId § AR 6 IH I 1 DA TGHL
%20 81 St ® d o T 300 T L ¥ 1 AT T A H1 WH FEAfAEd § 9 A g ?
a5 @ 1 6 > @ 5
70. fr=Afafaa Togan afea & fau
Y =B+ By Xg T ByXy + . + BaXy 1,
‘o’ eI ok T |t Wiferent TiieT g W6 Fife §
(1) n-k 2) n-k+1 3) n-k-1 4) n+k+1
oous || [HIIIEINT 2



71. Match the following and answer from the codes given below :
List - I List - II
(a) Wald test (i)  Stationarity
(b)  Unit root test (i) Errors in Variables Model
(c) Student’s t test (iii) Causality
(d) Granger test (iv) Significance of Regression Coefficients
Codes :
@@ (b)) (o) (d)
M @ O G G
@ O @ Gv) i)
@) ) @) 0 G
@) Gv) @) @ 0
72. Which of the following model/s can be estimated using OLS, following suitable
transformations if necessary ? Note that ‘e’ denotes the exponential.
(@) Y =a+pX+u (b) Yt=a+BeXt+ut
© Y,=a+B InX)+u, ) Yy=a+pXP+y,
Codes :
(1) (a) only (2) (b) and (c) only
(3) (), (9) and (d) only (4) (), (b), (©) and (d)
73. If OLS is applied separately to each equation that is part of a simultaneous interdependent
system, the resulting estimates will be :
(1) Unbiased and consistent
(2) Biased and consistent
(3) Biased and inconsistent
(4) Itis impossible to apply OLS to the equations that are part of a simultaneous system
74. Which one of the following is not a plausible remedy for multicollinearity ?
(1) Use principal components analysis
(2) Drop one of the collinear variables
(3) Use a longer-run of data
(4) Take logarithm of each of the variables
oans [ MR AN 2 papeca
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71.

72.

73.

74.

freafafea =1 gafaa fefse ok F= few %l § 9 s® g :

T - 1 Tt - 11

e T () e ofereen

I ¥ T (i) =X H Ffe diea

wWe=d '3 = (iti)  SHTCOT

IR = (iv) SHTSEO 0TI T ST

@@ (b) (9 (d)
(i @ (v) (i)
@) G @) (
(i) (@v) @ G
(iv) (i) (@) (

frefafed aiea/dl | afe savass & @ = 2 f7e/7 =1 9w =g a1 fafy 9 sesfaa
e S Weha €7 e HE TR (e) WA= 1 Hehfad har 8 |

(a)
(©)

Y, =a+pX+u, (b)  Y,=a+peXt+u,
Y,=a+B In(X,) +u, d)  Yy=a+pXP+u,
FIA (a) (2) HAA (b) IR ()
Fad (a), (o) #AR (d) 4) (), (b), (0) &R (d)

Ifq Tk | - TR o Jomett o1 gciesr IR0l o TTehard &g | =IAad a9 faf¥ (OLS)
ITIIT T ST §, O T SATehereh B

(1)
()
)
(4)

froqer SR gEm

TEIAYol SR HT

TETITaYUl SR ST

S GHIRIU T A YU o S ¥, ST Tehe, W =Aqd o fafy (OLS) g
T T |

frafafad # @ &R sg-amiasd &1 slifacws 3™ & § 2

1)
()
(3)

e Frar=y faeers &1 gan
fordt ter gufas =) &1 &M
QIbldnllcfich 61|°|7S| Wm

Yk I ok TTEFTOTehTE TIAOT Sl ol

p.aus HIH\IHIIHI\H\II\|||M||\|H|\IIIIIHHIH||\||\|\|\||||\ 2



75. Consider the two regression models :
Model 1 : Y, =B+ By Xp + 1,
Model 2 Y=y + Xy + agX5 +u,
Which of the following statements are true ?
(@) Model 2 must have an R? at least as high as that of Model 1.
(b) Model 2 must have an adjusted R? at least as high as that of Model 1.
(c) Models 1 and 2 would have identical values of R? if estimated coefficient of ay is zero.

(d) Models 1 and 2 would have identical values of adjusted R? if the estimated coefficient
of aj is zero.

Codes :
(1) (b) and (d) only (2) (a) and (c) only
(3) (a), (b) and (c) only 4) (a), (b), (c) and (d)
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75. < GHILA Aigal R fa=R Hif
wWSA1 Y, =B +B Xyt
WEA2 Y =g+ apXy +agXy U,
frefafaa woml & @ ®F-9 @& €2
(a) Wisel 2H R2 % AH %7 § FH Hise 1§ 31f¥e g1 Afeq |
b) TieA 2§ GHENG R2 1 AF &9 ¥ FH Higd 1% T % GHHET TH d1fed |
) WIE 1 3R 2 H R2 1 91 HHH B A1 AE oy HT TRTerd HHIFHO T[0Tk I ¢ |
d) Wi 1 3R 2 H, FARITSA R2 %1 A FHH ST A116T AMS o, 1 SATHRIAT THISAV T[0T 4 © |

FId (b) 3R (d) (2) HAA (a) 3R ()
e (a), (b) 3 () 4) (), (b), () &R (d)

-00o0-

o-ons [ RN s



Space For Rough Work

o-ans [N ;

N

Paper-III





